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AQA A2 Business Studies

5 Human resource strategies

Using the marking schemes

These answers give some possible responses, but not all. There are many ways in which most of the questions can be answered, and the marking scheme cannot include all of these. The answers provided are only some possible suggestions. There is one exception to this, however. Questions based on calculations do have definitive answers and these are provided, although there may be more than a single way to arrive at the correct answer. Numerical questions of this type will only appear on Unit 3 papers.

Ask your teacher or lecturer how to use the marking schemes to select the appropriate level for your answer. 

Question 1

Knowledge, application and analysis

	Level
	Descriptor
	Marks

	L5
	Good analysis 

AND 

Good application
	10–9

	L4
	Good analysis or good application

AND

Reasonable application or reasonable analysis
	8–7

	L3
	Good analysis or good application

OR

Reasonable application and reasonable analysis
	6–5

	L2
	Knowledge plus reasonable application

OR

Reasonable analysis
	4–3

	L1
	Answer contains relevant knowledge — basic points and/or evidence of understanding of relevant term(s)
	2–1


Answers may include the following:

· Flexible workforces are those that are adaptable to changing conditions and demands. 

· The company could seek to make more of its employees temporary or part time to reduce wage costs and possible overstaffing. Having a workforce which is 93% full time is very high for the hotel industry.

· The company could make use of consultants or use temporary contracts to provide the specialist skills it requires.

· Using temporary employees is a cost-effective move for a seasonal business such as this.

Question 2

Knowledge, application and analysis

	Level
	Descriptor
	Marks

	L5
	Good analysis 

AND 

Good application
	13–12

	L4
	Good analysis or good application

AND

Reasonable application or reasonable analysis
	11–9

	L3
	Good analysis or good application

OR

Reasonable application and reasonable analysis
	8–6

	L2
	Knowledge plus reasonable application

OR

Reasonable analysis
	5–3

	L1
	Answer contains relevant knowledge — basic points and/or evidence of understanding of relevant term(s)
	2–1


Answers may include the following:

· A ‘hard’ HR strategy views employees as a resource to be used as efficiently as possible; they are no different from production machinery.

· Yes, because the company’s ROCE figure has dropped to 8.8% which is very low and wage costs are a high proportion of total costs for an hotel chain.

· Yes, the company is moving into a market which is more seasonal and it cannot afford to have large numbers of full-time employees underutilised.

· No, the company has a reputation for quality and a well-motivated and trained workforce is essential to provide quality in a service industry.

· No as the company is undergoing other changes such as expansion and these may be difficult to manage simultaneously.

Evaluation

	Level
	Descriptor
	Marks

	E3
	Judgement with well-supported justification. Answer has a logical structure throughout, with effective use of technical terms.
	5–4

	E2
	Judgement with reasonable attempt at justification. Evidence of a logical structure and some use of technical terms. 
	3–2

	E1
	Assertion or judgement which is unsupported. Reasonable evidence of a logical structure and little use of technical terms. 
	1


Themes for evaluation may include the following:

· This seems a strange move for a company with such a reputation.

· Perhaps the market is changing — increasing price elasticity (if this is correct) might reinforce this view.
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